| > restart

>

Dias := Lunes, Martes, Miercoles, Jueves, Viernes, Sabado, Domingo;,
Dias := Lunes, Martes, Miercoles, Jueves, Viernes, Sabado, Domingo

_> Dias1

Lunes

> DiaS5

Viernes

> Dias8
Error. invalid subscript selector

>

Dias,
Domingo

DiasSemana = [Dias|
DiasSemana = [ Lunes, Martes, Miercoles, Jueves, Viernes, Sabado, Domingo]

DiaSSemana3
Miércoles

DiasHabiles := DiasSemana[1..5]
DiasHabiles = [ Lunes, Martes, Miercoles, Jueves, Viernes|

FinSemana = DiasSemanal6..7]
FinSemana := [ Sabado, Domingo|

DiasConjunto == {Dias}
DiasConjunto = { Domingo, Jueves, Lunes, Martes, Sabado, Viernes, Miercoles}

DiasAlfabeticos = sort(DiasSemana)
DiasAlfabeticos = [ Domingo, Jueves, Lunes, Martes, Miercoles, Sabado, Viernes)]

restart
Ecuacion ' =x--3 +x--2+x+1=0
Ecuacion :=)c3 —|—x2 +x+1=0

Raiz := solve(Ecuacion)
Raiz:=-1,1, -1

Raiz1
-1
Raiz2

Raiz,
-1
EcuacionOriginal := expand( (x — Raizl) (x— Raizz) (x— Raiz3) ) = 0
EcuacionOriginal := S Fx4+1=0
restart

EcuacionDiferencial == y"+5-y'+ 6-y=0
2

EcuacionDiferencial .= d—2 y(x)+5 (i y(x)) +6y(x)=0
dx dx

Condiciones == y(0) =1,D(y) (0) =2
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Condiciones :=y(0) =1,D(y)(0) =2
SolucionGeneral = dsolve( EcuacionDiferencial)
SolucionGeneral :==y(x) = _ClI e Y+ 2 e 2"

SolucionParticular == dsolve( { EcuacionDiferencial, Condiciones}, {y(x) })
SolucionParticular .= y(x) = -4 e 4 5e %Y

Cond[1] = eval( subs(x=0, rhs(SolucionParticular) ) )

Cond, := 1
Cond[2] == eval(subs(x =0, rhs(diff (SolucionParticular, x))) )
Cond, :=2

Comprobacion[1] = eval(subs(y(x) =rhs(SolucionParticular), EcuacionDiferencial))
Comprobacion| :=0=0

restart

Sistema =2 x —3y=3,-x +4y=-5:Sistema; Sistema,
2x—3y=3
-x+4y=-5

Solucion = solve( {Sistema}, {x, y})

Solucion = {x= —i,y= _ l}

5 5
Solucion,
3
5
Solucion,
__T
Y775
restart
Matrizlnicial = array([[2,3], [1,4]])
23
Matrizlnicial ==
1 4
with(linalg) :
Valor := det(MatrizInicial)
Valor :=5
Matrizlnversa = inverse(Matrizlnicial)
4 3
5 5
Matrizlnversa :=
I
5 5

Matrizldentidad = evalm( Matrizlnicial &* MatrizInversa)
10

01

Matrizldentidad =
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MatrizTriple = array([[1, 2,3], [4,-5,6],[7,8,91])
1 23

MatrizTriple .= | 4 -5 6

7 89

ValorTriple := det(MatrizTriple)
ValorTriple .= 120

Triplelnversa = inverse(MatrizTriple)
3t 9
40 20 40
, I S S S O
Triplelnversa := 20 10 20
67 1 13
120 20 120
Tripleldentidad := evalm( MatrizTriple &* Triplelnversa)
100
Tripleldentidad .= | 0 1 0
001
restart
Ecuacion :=2-y-(y'+2) —x-()')--2=0

Ecuacion =2 y(x) (% y(x) +2) —X (—y(x))

Solucion = dsolve(Ecuacion)

x(-x+2 CI

Solucion =y(x) =0,y(x) =-4x,y(x) = 1

2 _Clz(— -x+2

_Cl
SolGral = simplzﬁ/(Solucionj)

_ 2
SolGral :=y(x) :% (-x +él CIl)

DerSolGral = diff (SolGral, x)

DerSolGral := % y(x) = - ‘)C_‘EC%I_C_I

Comprueba = simplify(eval(subs(y(x) =rhs(SolGral), Ecuacion)))
Comprueba :=0=0

SolucionParticular == subs(_CI1 =2, SolGral)
SolucionParticular .= y(x) = % (-x+4 )2
SolucionParticularDos = subs(_CI =-6, SolGral)
SolucionParticularDos = y(x) = - 1 (-x— 12)2

SolSingUno = Solucion,; SolSingDos = Solucion,
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SolSingUno =y (x) =0
i SolSingDos =y(x) =-4x
[ > SolGral
1 (-x+2 cI)?
i 2 _ClI
_> Raiz = solve(rhs(SolGral) =rhs(SolucionParticular), CI)

Raiz =2, % ¥

yix) =

_> RaizDos = solve(rhs(SolGral) =rhs(SolSingDos), CI)
1 1

RaizDos = - 5 X, - —

2
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